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Section 1. Introduction to Medicine (Term 1)

Competence Tasks Possible answers Complexity
type

UuC -4.2 1. Choose the correct answer. A. Interrogative low
uUC -4.3 Match the sentences with their sentence

types: B. Exclamatory

1. The history of medicine is the sentence

study and documentation of the [ C. Negative sentence

evolution of medical treatments, | D. Imperative sentence

practices, and knowledge over time. E. Declarative sentence

2. What do early medical traditions

include?

3. Find out a bit about advanced

research centers.

4. Sumerian exorcism operations are

extremely frightening!

5. Humans did not at first regard

death and disease as natural

phenomena.
uC 42 2. Group these questions by their A. Tag question low
ucC-43 types: B. Special question

1. Did folk medicine or domestic | C. Alternative question

medicine, consisting largely in the | D. Yes/No Question

use of vegetable products and herbs,

originate in this fashion and still

persist?

2. It is difficult to reconstruct mental

attitude toward the problems of

disease and death, isn’t it?

3. What category were serious and

disabling diseases placed in?

4. Do you know the meaning of

“supernatural origin”?
UC-4.2 3. Which question is correct? A. When magic and religion did low
ucC-43 play a large part in the human

society?

B. When magic and religion
played a large part in the
human society?

C. When did magic and religion
play a large part in the human
society?

D. When did magic and religion
played a large part in the
human society?




UuC 42 4. Fill in the gaps with the 1) are going to study low
UC -4.3 appropriate Future form: 2) will introduce

A. Basic Biology __ you to the | 3) will have learned

fascinating study of the life on Earth. | 4) will be considering

B. We __ about the magnificent

diversity of life — animals, plants,

fungi and microorganisms and the

environments they inhabit by the end

of the academic year.

C. Today we five basic

principles of the biology foundation

as it exists.

D. Medical students __ the single-

celled organisms during their class

tomorrow.
UC-42 5. Choose the correct option: A. cover low
UC -4.3 Our introduction to biology ___ the | B. covers

basics of biology such as evolution, C. is covering

genetics, cells and life. D. has covered
uC 42 6. Choose the correct definition to | A. an institution providing medium
UC -43 the word: medical and surgical treatment

“Medical organization”

and nursing care for sick or
injured people

B. an organized group of
physicians, usually from one
hospital, into an entity able to
contract with others for the
provision of services

C. an institution that stores and
exhibits objects of historical,
scientific, artistic, or cultural
interest that have a link to
medicine or health

D. a standalone unit with the
mandate of conducting medical
research for health inventions




UuC 42
ucC -43

7. Choose the correct definition to
the word:
“Modern medicine”

A. comprises medical aspects of
traditional ~ knowledge  that
developed over generations
within the folk beliefs of various
societies, including indigenous
people

B. a process of determining
which disease or condition
explains a person’s symptoms or
signs

C. the wuse of high-energy
radiation from X-rays, gamma
rays, neutrons, protons, and
other sources to kill cancer cells
and shrink tumors

D. a system in which medical
doctors and other healthcare
professionals (such as nurses,
pharmacists, and therapists) treat
symptoms and diseases using
drugs, radiation, or surgery.

medium

ucC-4.2
ucC-43

8. Match the following word
combinations with their
definitions:

1) General practitioner

2) Neonatologist

3) Psychiatrist

4) Allergist

a) a doctor who specialize in
prevention and intervention of
mental, emotional, or behavioral
disorders;

b) treats immune system
disorders such as asthma,
eczema and some autoimmune
diseases;

c)a doctor who is responsible
for diagnosing and treating a
variety of injuries and diseases
that fall under the general
practice category;

d) a type of pediatrician
specializing in the medical care
of infants, particularly critically
ill premature and full-time
infants.

medium

ucC-42
ucC-43

9. Choose the relevant option to fill
in the gap:

An early form of was first used
at Massachusetts General Hospital in
Boston by dentist William T.G.
Morton and surgeon John Warren on
October 16, 1846.

A) surgery

B) anaesthesia

C) hypodermic needle
D) antibiotics

medium




UuC 42
ucC -43

10. Match words (1-4) to their
synonyms (a-d):

1. modern medicine

2. traditional medicine

3. practical medicine

4. alternative medicine

a) indigenous medicine
b) conventional medicine
¢) paramedicine

d) allopathic medicine

medium

ucC-4.2
ucC -43

11. Fill in the gaps with the
appropriate tense forms:

A. Advancements in the generation,
purification and cellular delivery of
RNA the development of mRNA
vaccines across a broad array of
applications, such as cancer and Zika
virus infection.

B. The emergence of the COVID-19
pandemic _ that the world needed
rapid development of a vaccine that
was deployable around the globe.

C. In the United States, 1 in 10
individuals has diabetes, which
how the body processes food into
energy.

D. Artificial Intelligence (Al) ___as
a new tool that could help detect
sepsis quickly.

1) demonstrated
2) is being used
3) affects

4) have enabled

medium

ucC-4.2
ucC-43

12. Choose all the sentences with
the correct prepositions:

1) High levels of blood cholesterol,
particularly low-density lipoproteins
(LDL-C), are known to be a
significant contributor to
cardiovascular disease.

2) Experts believe the rate on
postpartum depression could be at
least twice as high as what current
statistics reveal because many cases
go undiagnosed.

3) For decades, clinicians have only
been able to treat patients’
hypertrophic cardiomyopathy (HCM)
symptoms — using drugs developed to
treat other heart conditions — with
limited effectiveness.

4) The FDA has assigned a target
action date for this therapy of April
28, 2022.

A. 134
B. 1234
C.34

D. 234

medium




UC-42 13. Choose all time expressions used| A. for medium
UucC 43 in Present Perfect Tense: B. recently
C. already
D. just
E. yet
F. never
G. always
UuC-42 14. Match auxiliary verbs with A. Present Continuous medium
uc-43 their Tenses: B. Past Continuous
1. do/does C. Past Simple
2. did D. Present Simple
3. am/is/are
4. was/were
ucC-4.2 15. Choose the right variants of the | A. You are out of breath. Has medium
uC-43 questions in Present Tenses: you been running?
B. How long have you been
preparing for the conference?
C. Your English is getting better,
isn’t it?
D. Does you think he is right?
ucC 4.2 16. Choose all sentences with verbs [ A. Al can detect diseases early high
UC -4.3 in Present Simple Active. and make more accurate

diagnoses more quickly than
conventional means.

B. 3D printing is being used for
creating dental implants,
replacement joints, as well as for
made-to-measure prosthetics.
C.One of the main benefits of
3D printing is that it greatly
accelerates production processes.
D. CRISPR works by
“harnessing the natural
mechanisms” of  invading
viruses and then “cutting out”
infected DNA strands.




UC-42 17. Fill in the gaps: A. advanced surgery high
ucC-43 1). market is booming [ B. a VR helmet
worldwide, and both technologies are | C. mental disorders overcome
being used increasingly in healthcare | D. The VR and AR (augmented
applications. reality)
2). The technology can be deployed
in various ways, such as performing
more ___, helping with pain relief,
and treating mental health conditions.
3) Surgeons can also use __ to
rehearse procedures, as well as to
have full sight of the inside of a
patient’s body.
4) VR can also help people with
their fears by providing them a
controlled environment for social
interactions.
uC-42 18. Put the medical inventions in A. anaesthesia high
UC -4.3 the correct chronological order: B. antibiotics
C. stethoscope
D. X-ray
UC-42 19. Choose time expressions that| A. always high
ucC 4.3 can be used in both tenses: Present | B. usually
Simple and Present Perfect C. now
D. never
ucC-4.2 20. Match the medical inventions A 1954 high
UC 4.3 with correct date: B 1796
1) vaccines C 1895
2) germ theory D 1861

3) medical imaging
4) organ transplants




Section 2 Human Anatomy and Physiology (Term 2)

Competence

Tasks

Possible answers

Complexity type

UC-42
ucC-43

1. Complete the sentences with

the given words

1.The heart is a key organ in the
system.

2.The lungs separate oxygen from

other which we

breathe.

3.In fact the cardiovascular

system is not only responsible for

delivering blood and oxygen, but

also for transporting nutrients,

hormones and

throughout the body.

4.The are bones which

protect the heart, lungs and

stomach in case of injury.

5. link bones together

at the joints.

a. waste
b.cardiovascular
c. ribs

d. ligaments

e. gasses

low

uc4.2
UC-43

2. Complete the text with the
given words

1.Blood is made up of red cells,
white cells and floating in
a fluid called plasma.

2.The blood enters the atria,
which is the upper chamber and is
then pumped to the , two
lower chambers.

a. vessels

b. ventricles
c. veins

d. platelets

low

UC-42
UuC-43

3. Complete the text with the
given words

Our bodies are 1. by the
skeletal system, which consists of
between 206 and 213 bones in an
2. human body, which are
all connected by tendons,
ligaments and 3. . As
infants, humans have 270 bones,
before some 4. together
during growth. The skeleton not
only helps us move, but it's also
involved in the production of
blood cells and the storage of

5. . The teeth are also
part of the skeletal system, but
they aren't considered bones.

a. adult

b. fuse

c¢. calcium
d. supported
e. cartilage

low

uC-42
uC-43

4. Choose the correct variant:
What blood vessels take blood
away from the heart after oxygen
is added?

a. veins

b. arteries

c. capillaries
d.venules

low




ucC-4.2 5. Choose the correct variant: a. Digestive and circulatory low
uC-43 Which two systems work b. Circulatory and excretory

together to ensure that oxygen c. Respiratory and

reaches the bloodstream and circulatory

carbon dioxide is removed from | d. None of the above.

the bloodstream?
UuC-42 6. Choose the correct word to a. few medium
UC-43 complete the sentences: b. a little

1.You won't be successful. c. little

Nobody can succeed it in such d. a few

time.

2. Celine feels lonely because she

has very ____ sincere friends.
ucC-42 7. Choose all the sentences with | a. 1,2,4,5 medium
uC-43 the correct use of the article: b. 3,4,6

1. London is on the Thames. c. 1,3,4,5

2. He usually reads Times at the | d. 2,5,6

breakfast.

3. You must visit the British

Museum when you are in

London.

4. Madam Tussaud’s is visited by

most tourists of London.

5. Elbrus is the highest peak

of the Caucasus.

6. Volga, the longest river in the

Europe, flows into the Caspian

sea.
uC-42 8. Complete the sentences with | a. smallest medium
UC-43 a suitable word. You can use b. highest

the words more than once: c. deepest

1.Everest is the mountain in | d. wealthy

the world. e. largest

2. The West End is the symbol of

___and luxurious life.

3. Lake Baikal is the one in

the world.

4. The Pacific is the ____ocean on

our planet.

5. The USA is the fourth

country in the world.

6. Australia is the

continent in the world.
UuC-42 9. Choose the correct answer a. cheaper. medium
uC-43 We stayed at _____hotel in the b. the cheapest

town. ¢. more cheaper

d. much cheaper.

uC-42 10. Choose the correct form of | a. weller medium
ucC-43 the adjective b. better

I wasn’t feeling well c. gooder

yesterday, but I feel a bit
today.

d.more weller.




ucC-4.2
UC-43

11. Complete the sentences with
the correct form of the

adjective:

1.1t was an awful day, it was
___day of my life.

2. This test was ____than the first
one.

3. That was the beginning of ______
fire in London’s history.

a. the badder
b. worse

¢. the worstest
d. the worst

medium

UuC-42
UC-43

12. Find the correct sentences:
1.We had bought a lot of things
this week.

2. She usually washes the dishes
after dinner.

3. Sandy will buy a car as soon as
she will pass her driving test.

4. They were the first men to sail
around the world.

5.Dad was repairing the TV while
Mum cooked dinner.

6. Sarah writes two letters so far
today.

aoos
—_— N N —

medium

uC-42
UC-43

13. Complete the sentences with
the correct form of the verb
1.All flights cancelled
because of fog yesterday.

2.This picture of sunflowers _____
painted by Van Gogh.

3.Monthly meetings
organised by the marketing
manager.

o

. are being
b. were
c. are
d. was

medium

uC-42
UC-43

14. Complete the sentences with
the correct word. You can use
the words more than once.
1.Are you going this
weekend?

2. I want to eat.

3. I invited from the
office.

4. Please, can I have

water?

5. When the fire alarm rang, _____
left the building immediately.

a. everyone
b. some

c. something
d. anywhere

medium

ucC-42
UC-43

15. Choose all the correct
variants

Which of these things are
considered to be unhealthy?

a. to consume excessive
amounts of sugar

b. to increase physical
activity

c. to leave diseases untreated
d. to get rid of stress

e. to take the stairs as

often as possible

medium




uC-42 16. Choose all the correct a. serious, terrible high
uC-43 variants (more than one answer | b. seriously, terribly
is possible). c. badly, seriously
Two people were injured in | d. suddenly, approximately
the accident
uC-42 17. Put the words into the a. Yesterday I too late went high
UC-43 correct order to bed.
I /to /yesterday/ late/ went/ bed b. I went late too to bed
/too /. yesterday.
c. Yesterday [ went too late
to bed.
d. I went to bed too late
yesterday.
UC-42 18. Match the halves of the high
UC-43 sentences: a. may be caused by an
1.A modern lifestyle may unhealthy lifestyle.
increase ... b. causing vision issues, neck
2.Modern technology can have ... | strain, and hearing loss.
c. the risk of some
3.Many critical issues like psychological and
skeletal problems, overweight, physiological health
cardiovascular diseases and so on, | problems.
d. is related to the increased
4 The use of technology may risk of loneliness,
have negative effects on physical | depression, and anxiety.
health ... e. a big impact on the
mental and physical health
5.Many studies have shown that | of users.
spending more time on social
media ...
ucC -4.2 19. Choose all the correct a. 1,3,4,6 high
ucC -43 sentences in the Passive voice. b.1,3,5,7
1. Next year over 2,000,000 c. 2,4,6
mobile phones will be made in d. all of them

South Korea.

2. People are spending too

much money on personal
expenses.

3. Most of the pollution in city
centers is caused by traffic

jams.

4. We were driving fast and
overtook a lot of cars.

5. The roof of the building
was damaged in a storm a few
days ago.

6. He has just won £23,000 in the
state lottery.

7. The Statue of Liberty was
given to America by the people of
France in 1876.




ucC -4.2
UC-43

20. Choose all the sentences
with the correct use of articles:
1. Let’s play football on Sunday.
2. The Grand Hotel is in
Baker street.

3. Frank is a student

at the Liverpool

University.

4, “Which cinema are you
going to this evening?”’
“Classic”.

5. The Statue of Liberty is on
Ellis Island.

6. I’d like to go to China
and see Great Wall.

high




Section 3 Human Anatomy and Physiology (Term 3)

Competence Tasks Possible answers Complexity
type
UuC-42 1. Choose the correct | a. The organs that make low
uC-43 definition to the word: urine and remove it from the
“The gastrointestinal body.
system” b. The organs that are
involved in breathing.
c. The organs that take in
food and liquids and break them
down into substances that the
body can use for energy, growth,
and tissue repair.
d. The tissues, glands, and
organs involved in producing
offspring (children).
UC-42 2. Complete the text with low
UcC-43 the given words: a. chemical
b. mechanical
1. digestion is a
physical process that
increases the surface area of
ingested food and prepares it
for digestion by
enzymes.
2. The chewing of food
in the mouth and the
churning of food in the
stomach are examples of the
breakdown of food.
3.
digestion, by contrast,
involves the action of
hydrolytic enzymes that
chemically break
macromolecules
(carbohydrates, proteins,
lipids, and nucleic acids)
into their building blocks.
UC-42 3. Match the medical a. inflammation of one of the low
UC-43 terms with their tubes that connect the ovary to
definitions: the womb

1. hysterectomy
2. menorrhagia

3. salpingitis

4. cervical biopsy

b. surgical removal of the womb
c. a small piece of tissue removed
from the neck of the womb

d. heavy periods




uC-42 4. Match common a. type of chronic low
UC-43 respiratory diseases with obstructive pulmonary disease in
their definitions: which the alveoli lose their
1. cystic fibrosis elasticity.
2. emphysema b. an infection that causes
3. pneumonia the alveoli to fill with fluid or
pus.
C. genetic condition in
which thick mucus causes
breathing and digestive issues.
UcC-42 5. Match the modal verb in | a. offer low
UC-43 bold with its meaning. b. ability
1. He must be at the c. certainty
cinema now. He told me d. permission
about that yesterday.
2. I can play the piano
very well.
3. May I leave early?
4. I can help you with
this homework. Don’t
worry!
ucC-42 6. Choose all the correct a. l medium
ucC-43 sentences. b.2
1. You mustn’t to be c.3
extravagant. d. 4
2. I cannot play tennis
very well.
3. He can does very
difficult sums in his head.
4, She could play three
instruments when she was
ten.
uc-42 7. Fill the gaps with a. mustn’t medium
uC-43 suggested modal verbs: b. shall
1. ___ you play the guitar c. might
when you were seven? d. could
2. It's too late. We____go e. must
home now. f. should

3. Paul is very tired.

He__ have arest.

4. It's getting colder and

it_ snow tonight.

5. ___ I'make a suggestion?
6. You____drink water from
the river.




uc-42 8. Choose all the symptoms | a. fatigue after exercise medium
UC-43 of lung inflammation: b. general tiredness
c. wheezing
d. whistling sound when exhaling
e. chest discomfort or tightness
f. difficulty breathing
g. coughing
UC-42 9. Fill in the gaps: a. muscles medium
UC-43 The respiratory system is the | b. oxygen
1. of organs and C. tissues
2. that help you d. network
breathe. It includes your e. gases
airways, 3. and blood | f. vessels
4. . The 5. that g. lungs
power your lungs are also
part of the respiratory
system. These parts work
together to move 6.
throughout the body and
clean out waste 7. like
carbon dioxide.
UuC-42 10. Choose all the correct | a. remove waste products medium
UC-43 answers: and drugs from the body
Kidneys function is to: b. keep urine from leaking
by closing tightly like a rubber
band around the opening of the
bladder
c. release hormones to
regulate blood pressure
d. allows urine to pass
outside the body
e. control production of red
blood cells
f. balance the body's fluids
UuC-42 11. Match the urinary a. urgent need to pass urine medium
ucC-43 symptoms with their b. macroscopic blood in the urine

definitions

1. dysuria

2. nocturia

3. urgency

4. hesitancy

5. urinary incontinence
6. hematuria

c. urination at night

d. involuntary passing of urine

e. burning or scalding pain in the
urethra when passing urine

f. difficulty starting to pass urine




UuC-42
UC-43

12. Match the name of the
tense with its function.

1. can be used (often
with 'since' and 'for') to talk
about unfinished actions that
started in the past and are
still true in the present. It's
often used with stative
verbs.

2.___ canbeusedto
emphasise the length of time
that has passed. It can be
used to emphasise that
something is temporary.

a. present perfect continuous
b. present perfect simple

c. present simple

d. present continuous

medium

ucC-42
uC-43

13. Choose the right tense
form for each sentence.

1. Nina English for
2 years.

2. The birds
South.
3. They
years.
4. Mike
poem.
5. The children __
cartoons for 2 hours.

to the

him for many

to learn the

1. a) has been learning/b) has
learned

2. a) have been flying /b) have
already flown

3. a) have known /b) have been
knowing

4. a) has forgotten/b) has been
forgetting

5. a) have watched /b) have been
watching

medium

uC-42
UcC-43

14. Choose all the correct
sentences.

1. 1. They are discussing
the problem for hours, but
has not solved it yet.

2. 2. Martha has been
playing tennis since 2
o’clock.

3. 3.Isitstill raining?
No, it have stopped.

4. 4. John has been
winning the championship
two times.

5. The boys have been
running for 3 hours.

opo o
DN N W N =

medium

uC-42
UC-43

15. Choose all the
sentences that are true

1. The patient who has a
loose cough produces
phlegm.

2. Crackles are heard
when the airways are
narrowed.

3. A patient who has a non-
productive cough produces
sputum.

4. Wheezes are typical of
pleurisy.

opo o
DN N W N =

medium




5. A pleural rub is a sign of
asthma.

uc-42 16. Match the a. ovaries high
uC-43 reproductive systems and | b. prostate
their parts: c. fallopian tubes
1. men reproductive d. uterus
system e. penis
2. women reproductive | f. Ccervix
system g. testes
h. vagina
UuC-42 17. Match the following a. is a term given to the high
UC-43 terms to their definitions: | infection and subsequent
1. Endometriosis inflammation of the tissues of the
2. Polycystic ovary vulva or the vagina.
syndrome b. this syndrome is caused
3. Vulvovaginitis when the ovaries produce high
4. Uterine fibroids levels of a particular class of
hormones, namely androgens.
c. sometimes it is possible
that tumors grow in the muscular
wall of the uterus; however, these
tumors are not cancerous.
d. is a reproductive system
disease that is caused by
abnormal growth of the
endometrium.
ucC-4.2 18. Complete the functions | a. past simple high
UuC-43 of the tenses with the b. past perfect simple

names of the tenses.

1. We use with action
verbs to emphasise the
completion of an event and
to refer to the completion of
an activity.

2. Weuse ____to show that
an event or action in the past
was still continuing and to
focus on the activity and
duration of the activity.

3. We use to talk
about definite time in the
past (often we specify

when something happened,
e.g. yesterday, three weeks
ago, last year, when I was

young).

c. past perfect continuous
d. past continuous




UuC-42
UC-43

19. Read the sentences and
decide which tense is
needed (Past Perfect
Simple and Continuous).
1. Peter was Sally's best
friend. She (know) him all
her life.

2. The children were wet
because they (play) football
in the rain.

3. We were very hungry
because we (not / eat).

4. 1 was delighted when I
found my keys. I (look) for
them for hours.

5. She was exhausted
because she (work) since
eight o'clock that morning.

g0 o

past perfect simple
past perfect continuous
past simple

past continuous

high

ucC-42
UC-43

20. Read the sentences and
decide which tense is
needed (Past Simple, Past
Perfect, Past Perfect
Continuous).

1. He had married her two
years before we (meet).

2. James told me you (buy)
the old vicarage two years
before your son’s birth.

3. I wish we (buy) it before.
4. When I (arrive) at the
station, the train had left.

5. He (play) tennis for 4
hours when he broke his leg.
6. The dog (come) into the
house once she had finished
the housework.

7. He (drive) his car for 10
minutes when he realized it
had a flat tire.

oo

past simple

past perfect

past perfect continuous
past continuous

high




Section 4 Professional Communication (Term 4)

Competence

Tasks

Possible answers

Complexity
type

ucC-42
UC-43

1. Choose all possible correct

options:

A patient's medical history includes

A. current symptoms

B. past illnesses

C. education background
D. family medical history

low

uC-42
UC-43

2. Place the steps of a patient

examination in the right order:

A. ordering diagnostic
tests

B. taking the

patient's medical

history

C. discussing the findings
with the patient and
recommending a course of
treatment

D. performing a physical
examination

low

uC-42
UC-43

3. Choose the correct sentence.

A. I want go home.

B. I want to go home.

C. I want going home.

D. I want be going home.

low

uC-42
uC-43

4. Choose the correct sentence.

A. I regret not go there.

B. I regret not to go there.
C. I regret not going there.
D. I regret don’t to go
there.

low

uC-42
UC-43

5. Choose the correct option:

Don't forget your homeTasks

today!

A. doing
B. to do
C.do
D. did

low

UuC-42
UC-43

6. Choose the correct option:
Examination and laboratory
findings are ...

A. results

B. tests

C. measurements
D. studies

medium

uC-42
uC-43

7. Choose all possible correct
options: The choice of therapy
depends on ...

A. nature a patient state
B. severity of a patient
state

C. finances of a patient
D. patient’s mood

medium




uC-42 8. Match the following terms to a) a scientific examination medium
UuC-43 their definitions: of a person's yellowish
1) blood test liquid waste that is
2) urine test released from the body
3) sputum test b) a scientific examination
4) stool test of a person's solid waste
passed out of a human
body
¢) a scientific examination
of a person's red liquid
d) a scientific examination
of a person's phlegm
uc-42 9. Match the steps to the actions: | a) listening to their heart medium
uC-43 1) performing a physical and lungs with a
examination stethoscope
2) making a diagnosis b) measuring blood
pressure
¢) examining the
patient's body
d) examining the patient's
symptoms
e) creating a treatment
plan
uC-4.2 10. Match phrases (1-6) to their | a) Give instructions for medium
UC-43 correct function (a-f): asking questions
1) Good afternoon, everybody. b) Greet the audience.
2) I’d like to start by thanking ¢) Introduce the topic of
you all for coming to my talk the presentation
today. d) Introduce yourself
3) My name is Milan Poborski and | e) Outline the structure of
I’m a PhD candidate at the presentation.
Northumbria University. ) Thank the audience for
4) My talk today is about my coming.
recent research
investigating...
5) I’ll begin by explaining how T-
cell responses. After that, I’ll go on
to describe the alternative method I
have been investigating. Finally, I
will discuss why this method could
be useful.
6) I will talk for about 40 minutes
and then I’ll answer any questions
at the end of my talk.
UuC-42 11. Choose the correct sentence. | A. She didn't want her medium
UC-43 child to take to hospital.

B. She didn't want her
child take to hospital.

C. She didn't want her
child to taken to hospital.
D. She didn't want her
child to be taken to
hospital.




uC-42 12. Choose all the sentences A.2,3,4 medium
UC-43 where to+Infinitive is necessary: | B. 2
1) Jenny decided ... find a job. C.2,4
2) You had better ... doitatonce. | D. 1
3) I can ... do it myself.
4) My parents don't let me ... come
home late.
UuC-42 13. Fill in the gaps. A. tests medium
UC-43 The process of making a | B.scans
1. can be complex and may | C. symptoms
involve various 2. and | D. diagnosis
procedures. For example, a doctor
may order blood tests, X-rays, or
3. to get a better
understanding  of  what s
happening inside the patient's
body. They may also ask the
patient questions about their 4._
and how long they have
been experiencing them.
uC-42 14. Choose the number of parts | A. 3 (Introduction, Main medium
uC-43 you usually have in an essay. Body, Conclusion)
B. 4 (Introduction,
Arguments, Results,
Conclusion)
C. 1 (Main Body)
D. 2 (Introduction,
Conclusion)
UuC-42 15. Choose the option which has | A. My friend asked me if I medium
UC-43 the correct sentence. had seen them before.
‘Have you seen them before?’ — B. My friend asked has
my friend asked. you seen me before.
C. Has you seen me before
my friend asked.
D. Have she seen them
before my friend asked.
uC-42 16. Choose all non-finite forms of | A. Participle high
UuC-43 the verb from the list below. B. Gerund
C. Infinitive
D. Adverb
uc-42 17. Choose all the sentences with | A. He has ruined his lungs high
uUC-43 a gerund: by smoking.

B. We saw a clown
standing on his head.

C. He hates spending
money.

D. Waving their hands, the
spectators cheered the
runners.




UuC-42 18. Put the parts of a A. Introduce your main high
UuC-43 presentation in the correct points and give their
order: details.
B. State your topic and say
why it is important for the
audience.
C. Make your final
statement and invite
questions.
D. Welcome audience and
introduce yourself.
uC-42 19. Choose all the suitable forms | A. doesn't likely high
UC-43 of the predicate: B. is unlikely
Caroline ... to be having fun at the | C. didn't likely
moment. D. is likely
UuC-42 20. Which sentences are true? A. The first step in high
UuC-43 healthcare is to create a

treatment plan.

B. Making a diagnosis
involves examining the
patient's symptoms and
medical history.

C. A doctor may order a
CT scan to understand
what is happening inside
the patient's body.

D. Patients should not be
open and honest with their
doctors about their
symptoms and medical
history.




